1:500
1

SKALA

- <
= Z
© &
i o 2 > <
— o N
= o — S 3
) cC ke o)
© Q © © 8 _qz) =
2 o S . Q E\Q
S £ O i O T S ~ <
] 22> o N S 3% o
I ©c 35 £ © nn © © = o g
= = 8 2 o ‘9 ¥ & ¢ 2 3% % o £
N 5 66 2 9 o c c 0 z £ 3
= S N 2 O o — v T T M E 2 ) n ]
Z v 3O g 9 g ¢ n & =2 3 o 3 2 | o o R
E X ¥ o 2 &5 0 < m B ® = ER A x o %
N U ‘U W ‘U U O = © © © éo N 72 2 2 ge
- L 90 0 v 0 9 < c c c 2o =z = <2 | Z < oF
W n e mn v w = © © ®© TOoON O ;BE > N 53
Z © @ © © © @© S =2 =2 EQcoc gy o3 3| = 2"
o 9 9 9 o O O ® O © © =8 20O 5 Z8 9 < < ;& E
L @0 © 0 C © cC £ £ £ QEeEgGAN N | @ c 828 |,
e Pa P Pm e e N S O NE e ) i £ 0
.. C v 9v o v Yv.yw L v O O SO NN L 22 E| <3 o : :
© X & & €& & € € = D D o g o0°8 5 &l £32
o [an] E R = R = N = s (@) = b v = S © 2o @ =
2 N 2 0 0 0 0 D & & a a £ 5228 Sz 3| 3%
[¢D) - 1 1 1 1 1 1 o 1 1 1 cC o g _— <% gl =4
O 2> Q.= c 22 3| o2 Ye g w
4 W T X e o8 &|.F8 B&<ss Suw Q
9 O FNOT : 2C F|2283 gzt 52 o
° o — = (@) s =< TliZeo 3Nsog EN N
FTS a3 a ¢ m7z S|:E8 ggces 24 e
gggNQ e )
S4 54 << =
ge "B gn bt
£3
S
F Q%;l 2/ me kK
’ y i ¢ 41802
S K / \148.09 1
: / 14651 x
$ =/ | |
5.2 5 s
" me Sy
N h
2 146
[
D /D
I
WA
\ 0
~J/ X
/
//
/] 14661

//_ [44.60146,3

3707/1 &

3693/3
Bp

14D/

vaes 4188/2
B

l46.2
4185/6

4187/¢2

4187 /3
woud,

4210/13

/11 $45.7445 5 1

144.c




